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(31, Write a function (not a full Pr““ram] in PIC aa!ﬂl‘ﬂbl‘f to P“”urm the following task

{ 18 [l sirifa])

White a function to decide if the value in W is divisible by 3 the function should set the carry flag
s the slatis register to 0 if W is divisible-by 4 otherwise set the carry flag to 1
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write operation on the 93C58 - Serial EEPROM (40
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The EEPROM has a 3-wire Serial Interface. In order to control the EEPROM the cs, clk, Di, Do
should be connected to the PIC (CS -> CO, CIK -> C1, Di -> C2, Do ->C3). In ordér 1o perform
rte operation accoraing to the tming diagram the write operation consist of the following

the w
1. CSissetto 1 :
On each rising edge of the clock one bit of the sequence is set on DI f n‘__,'ﬁ
. o

Then CS is set to 0 before the next rising edge
The function waits for Do to be 1 indicating the write operation is successful

» 101 <8 bit address ATto AD><8 bit data DT to DO>

4 L M)

The sequence for the write operatics

FIGURE 9-5:  WRITE TIMING
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Write a function to write the value in W at the address 0x00 of the EEPROM
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1) The Look up table cab be used to store data in

@mm b data memory
¢. both program and data memones d. none of the above

v s YA s VL
"u"

g"’ﬁm b 4us ¢c 0285 us d2s

5) The 16f8TT uses a
a 12 bit instructions @?HHM
¢. 16 bit instruchons d all of the above

Q4.(Bonus) When dealing with non linear sensor? What do you think is the best way
(fastest) to match the readings from the ADC output to actual sensor output. (15 points)
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